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1. U H R B DIZRR Bl O A 13 B K& R A BATTESRR 2

(A) (13-4r > FH=5R) (B) (13-57 » ZH_5[R)

(C) (13-67 » FIULKIR) (D) (13-67 * H—HRER)
2. #a=(-12) » b=(-45) » Q24 —3b=?

(A) (12,9) (B) (-1419)

(C) (10,~11) (D) (16,-11)
3. SR T = A ) - a=% =314 ~ c=3.14 » EIHIEREEE

(A) a>c>b (B) a>b>c

(C©) b>c>a (D) a=b>c

4. BHIA(-16) ~ B(=3,0) ~ C(4,k) =Bh3t47 » Hlk = ?
(A) 12 (B) 21 (C) -15 (D) 18
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1 7 7 1

(A) o (B) Ei (©) o (D) —Ei

6. %Iog%: a » I F 5 & 1R ?

(A) a>0

(B) aMJEHE 8

(C) a i/ NECE AR — IR 0
(D) aWE#E -3

7 EEE X Y TE (X —4)% + (Y —2)% ++/(y—8)% + (x—4)? =10 » HIF{LEE T 5108 — ({555

W 0 | O 09
16 25

(C) (X 4) (y_5)2 =1 (D) (X 4) (y_3)2 =1
25 25

8. =K (2sin” 80° —1)* + 4sin®10°cos® 10° + tan %nwﬁ%ﬁl ?

(A) -2 (B) -1 ) 2 (D) 1
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9. AMBCH1 > /BB A » B ZA=30° - BC=4 ~ CA=4/3 > HIAB Z E/E5E ?
(A) 443 (B) 4 ) 8 (D) 46

10. HZ I f () BRUAX® —3x—4 » 88U 2x+5 5 DAx+2F% f(x) » 88N -3 » HI f (x) BRLL
X% +3x+ 20 » gx=UEA ?
(A) —6x-15 (B) -9 (C) —6x-3 (D) 6x+9

1LE%@%DZ@’ﬁkqw%me\%E%@’ﬁﬁ&%%w@ﬂ’Eﬂ%%w@ﬂ$%
AR Y a, 275 7

(A) —615 (B) 1023 (C) —605 (D) 2457%

12. BT :3x—4y=6° L,:6x-8y+7=0> HABEL >B~CWEEL, L BC=5"HIAABC
Z IR fs ] 2

(A)%? (B) 6.5 (C) 13 (D) 95
X+3y—-3>0
13. FURIBZA T < 3x+2y - 620 » ATl » (15 14x+ 7y HiR/ MERY (X, y) £ ?
Xx>0°y>0
12 3
(A) (0,0) (B) (30) € (7 ) 7) (D) (0.3)

14Eﬂ@%ﬁ@i#ﬁ%%%ﬁ%ﬁ&ﬁtﬁg?iﬂ:«wafuwdf’%Tﬂﬁﬁﬁﬁﬁ

i 2
(A) B R (B) Bl 52X 4x+3y-6=0
&)Eﬁ%%%i (D) TEZHEEE (3,2)

15. E44PmE EH A4,-3) ~ B(6,2) ~ C(9,-1) ~ D(x,y) VUBLER A1 TVUEIE » HIFTH RIRERY D Bh[E
i [ 2 o2 3 T A s ] 2
(A) 21 (B) 10.5 (C) 84 (D) 42

16. #0<0 <7 » ]I f(0)=2c0s20—3sin 0 +5 ZFx KAEFMA ?

(A) 11%1 (B) 0 (C) 7 (D) v13+5
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17. 7R LR e ~ b > O a|=3 a-b=5" V38 |ll|B| =2
(A) 7 (B) 479 (©) E (D) i

18. EANH-SE 2 AR n EIIFIE 'S, » 47 S, =30 » 25 21 JEEIZ 30 FEAVAIL 60 » HIS,, =
(A) 90 (B) 300 (C) 180 (D) 210
19. R EFFERR L Bl y = 2x -5 2 A 5135° » HEL(-13) £ L E - BITFIE S L 2 e ?

(A) x-3y=-10 (B) 3x—-y=-6
(C) x+3y=8 (D) 2x-y=-5

20. P E—E : x*+y?—4x+2y-11=0 » HELE O B » [EYF—EBEP(-2,2) » HENWERU)ERAC[E
2 A~ B REG » 3ok PAOB 44 E 2 IFfER ?
(A) 107 (B) 57 © ?7[ (D) gﬂ'

21. AABCH1» AB=3+4/3 ~ AC =32 ~ BC =23 » HITHIRGHE RIERE ?

(A) ZA=45° (B) @ﬁ%gw\r
(C) «B=60° (D) AB %Lﬂﬁm%3
22. HRITHEHR 2x* +5x+6 =0 Z MR o ~ B » HI N YI/{n] & §EER ?
A o +/32=1 (B) (4a® +10a+7)(-2-23*-58)=-20
s _:i 2_ S
(©) Pl R (D) (N ++/8) 2+2J§

23. ki I B85 #2 28 (log, 16)(log, X) +9%Y2 = log, x- ':’c?ggsx 2 x EB T ?

@) 1 (B) 9 @)% m)%

24. FHi=1%a~b~clifida+2b+2c=10 » HIE a’b’c FRAMERAZ » TR A & R IER ?
(A) c=2 (B) a=4
(C) FAMEF 64 (D) b % a 8l c &L HIE 2 —

25. % i=+/-1 CHIHEX X+ (2+i)x-3+3i=0F—RB1-i » B—HE a: &K x* = a ZPUKAE
IR | S 2 DY B B i e R S % /D 2
(A) 443 (B) 2v3 (C) 449 (D) /3
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